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1.

What is the solution of

Iugmll—El,—(l—xz}_l}_l]_ =17

b f—

(a) x =100
(b) x=10
) x=1
d x=0

If A is an integer and a, [§ are the roots

i}fd-.tz-lﬁ.r+%=ﬂ such that 1 <@ =<2

and 2 < fi<3, then how many values
can A take 7

(a) 3
(b) 9
(c) 14
(d) 15

62 +7% +82 + 02 4107

NT+43 -4 +243

What is

to 7

(a) 330
(b) 340
{c) 355
(d) 366

If P=y+z y=z+x and Z=x+y,
then what is the value of

1 1 1
+ +
x+1 y+1
(a) -1
(b) 1
(c) 2
(d) 4

- |
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5.

6.

T

What would be the maximum value of {J
in the equation

SPO+3IRT+208=11147

(a) 9

(b) &

e} 3

(d) 4

A i3 a set of positive integers such that
when divided by 2, 3, 4, 5 and 6 leaves
the remainder 1,2, 3,4 and 5 respec-

tively. How many integers between
0 and 100 belong to the set A ?

(a) No integer

(b) One

(c) Two

{(d) Three

In an.examination, a student was asked
to divide a certain number by 8. By
mistake he multiplied it by & and got the

answer 2016 more than the comect
answer, What was the number ?

(a) 252
(b) 256
(c) 258
(d) 260
In the quadratic equation ™+ ax +5=10,
a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values

of a and b are possible in order that the
quadratic equation has real roots 7

(a) 6
(b) 7
(c) &
(d) 16
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TR 7
(a) x= 100
b)) x=10
) x=1
@ x=0

LA A ww quis @ aR o, p o
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B w7
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(©) 14.

@ 15

62 + 7% +82 +9% 4107
“ T4 -Jar243
(a) 330
(b) 340
(c) 355
(d 366

. afg f#_}r+z,‘]!z=z+x Eﬁl"z‘:=x+_}'$,
1 4 1 i 1

x+1 y+1 z+1

(@) -1

) 1

{c) 2

d) 4

s e B 7

SRR ?

5. WA SPY +3R7 + 208 = 1114% Q

SAftrRad W w1 g 7
(@) 9
(b) &
{c) 5
(d) 4

. A T UATHSE qUiH], W 2,3,4, 56 H

fomfom & s @ w1, 2, 3, 4
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Hear = ot 7

© {a) 252

®- 256
{c) 258
(d) 260
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= {1,2,3,4) % fdt ot mmow |
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e & fome forg femma weiteo & =

| Gl el 7

(@ 6
(&) 7
(c) 8
d 16

A - SDC-5-TRD



9.

10.

11.

12.

The sum of the squares of two positive
integers 15 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers 7

(a) 2
(b) 3
(c) 4
(d) 6
Let A= {7 8§ 9 10, 11, 12} and
B={7, 10, 14, 15}. What is the number

of clements in (4—B) and (B-A)
respectively 7

(a) 2 and 4
(b) 4and2
(c) 2and2

(d) 4and4

A boy saves Rs. 4-65 daily. What is the
least number of days in which he will be
able to save an exact number of rupees 7

(z) 10
(b) 20
(c) 21
(d) 25
Two men, 4 and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other 7

(a) Once
(b) Twice
{c) Thrice
(d) Four times
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13.

14.

15,

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

] 15
@ Te00

23
8

35
(c) 50

(b)

17
(d) ¥y

If &« and B are the two zeros of the
polynomial 255" — 15x + 2, then what is
a quadratic polynomial whose zeros are
(2c)™" and (28)" 7

(a) +30x+2

(b) 8" —30x+25

(e) 8" —30x

(d) =%+ 30x

What is the remainder when 2'™ is
divided by 1017

(a) 1

(b) 11

(e) 99

(d) 100

In an office, one-third of the workers are
women, half of the women are mamied

~and one-third of the married women

have children. If three-fourth of the men
are marmed and one-third of the married
men have children, then what is the ratio
of married women to marrieds men 7
{a) 1:2

(b) 2:1
fe) 3:1
(d) 1:3



9, B HATERT QUIEHT o =1 T GAIERA 208 |

L0.

11.

11.

afs =Et wem w1 ad S den w1 187 8,
1 W 3 B T w FE TE

(a) 2
) 3
(c) 4
{d) o

W wifT 4 = {7.8,9, 10,11, 12} 3R
B=1{7,10,14,15)8 | (4— B) ¥ (B- 4)
i st i T we R

(a) 23R4
(b) 4 &2
(¢) 232
(d) 43R4

U T Wit 4-65°%, @A ¢ | faAt R
ag om wen = g, et T o
AT =i T A= w7

(@) 10

(b) 20
{c) 21
(d) 25
21 WTEHt, A 3% BUE 0-25 km & AR
W 4 km ¥ Wy wa § | afe o

IR T A 5 : 48, T SAan 2w g
# Frat = ot e 2 7

(a) TH AR
() T ER
(c) o &R

(d) ¥R =R

13

14.

15.

16.

Fraffia # % == @t vs ofeam @@n
A AR T gEEE FER A

B3

15
(a)

1600
23

8
E
50
17
6

(b)
()
(d)

afy 7EE 255 — 150 + 25 5 OF @ 3N
p &, @t =w fam agag T gen G
s (20)" R (20)® 7

(a) ¥ +30x+2

(b) B —30x+25

(c) & -30x

(d) »*+30x

=g 2'° =1 101 & fnfe fFn W, @
e 1R 7

(@ 1

(b) 11

(c) 99

(d 100

s witew #, vE-foed sER wland §,
et # & st wigand fnfem € ok
wwﬁﬂﬁrﬁmm#
w=t €1af qeel # & dw-dtard e
i B st - franfem qut %
w=1 7, 9t frafea wfimnst @ fafia

g FEm e aTE R P

(), 1:2
{b)- 2:1
(c) 3:1
. 1:3
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17.

18.

19,

A can do 50% more work than B in the
same time. B alone can do a piece of
work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and 4 work together to complete the
remaining work 7

(a) 6 hours

{b) 12 hours

{c) 4-8 hours

(d) 7-2 hours

When the speed of a train 15 increased by
20%, it takes 20 minutes less to cover
the same distance. What is the time
taken to  cover the same distance with
the original speed 7

() 140 minutes
(b) 120 minutes
(c) 100 minutes
(d) 80 minutes
A candidate scoring x% marks in an
examination fails by a marks, while

mth:rca.udidatswhnmﬂrﬁ'}%ﬁmﬂ:ﬂ
gets b marks more than the rmmrmun

‘required pass marks. What is the

munumrmﬂsﬂ::rﬂmﬂnmmaunn*

100(a +b)
x=y
100(a - b)

x+y

100(a + b)
_}-"—.'I:'

100(a—b)
=y

(a)

(k)

(c)

(d)
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20. If p and g are the roots of x*+ px+ ¢ =0,

then which one of the following 1s
correct ?

fa) p=0worl
() p=1 only
) p=-2o0r0

(d) p=-2 only

21. The cost of 2-5 kg rice 15 Rs. 125, The

cost of 9 kg rice is-equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-3 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ?

(a) Rs. 2310

(b} Rs. 3190

{c) Rs. 4070

(d) Rs. 4620

22. Which one of the following is correct in .

respect of the number 1729 7

{a) It cannot be written as the sum of
the cubes of two positive integers

(b) It can be written as the sum of the
cubes of two positive integers in
one way only '

{e¢) It can be written as the sum of the
cubes of two positive integers in
two ways only

{d) It can be written as the sum of the
cubes of two positive integers in
three ways only



17.

18.

19,

Tk WA &R0 | A, B # 50% AiaS = o
AT | B e 0w & 30 92 A W
F HFAE | B T 9 F g, 3 96
12 5¢ % FE oK &4 & 915 4 909 99
firee o = T & | =9 B0 FE W
1w F g 4 o p e w2 e
F Far
(a) 6 =2
b 12 =52
(c) 48 w52
(d 7292

wfar U Leret ot =T 20% W €, @
v gl 7w # 20 Free ww A
ol Tt T # S ' gl w
A # feran wwa wnm 7

(a) 140 fome
) 120 fFe
() 100 fme
(@ 80 fire

Tt v 3 s et 1% 3 WIg F
# 3l o st F He B v R, sl g
HETHT AT % 3k WIW el & I8 oA
AT I 3] § b ATk W
€ ot & wftrem dw A € 7
100z + &)
r=y
) 100{a — b)

Xty
(@ 100(@+5)

y=X
@ 190@-b)

x=y

(a)

20. 7 ¥ +px+tg=0F gE p AR g &, A

21.

fefafeo d # s mos awt & 7

(a) p=0%"aT 1

(b) FF p=1

(c) p=-239491 0

() F=9 p=-2

2-5 kg A" i F 125%, # | Okg 9=
Ht T 4 kg T AT F SR |
14 kg T= it FHT 15 kg T F = F
T # | 2 kg T & qeit F F Ske

7z (Firiew w) F e 2 | 11 kg T2 6
dea e ?

(a) %2310
{b) % 3190
(c) & 4070

(d) ®. 4620

22. WEAT 1729 & wag # Frafafas & @

T W FA W R 7

() T T T quifet & w1 & A &
w5 | el fermn = v B

(b) T 5 e quitt & wA & A &
&= # Fad uw B R & fown W
uFal &

(c) T2 T Uit & wAl & AW &
ﬁﬁ%ﬁaé‘rmﬂﬁmimm
?

(d) T8 T G it F w6 O
w9 7 FA At mﬂﬁmmm

2
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23. A shopkeeper increases the cost pnice of

an itern by 20% and offers a discount of
10% on this marked price. What is his
percentage gain 7

(a) 15%

(b) 12%

(c) 10%

(d) 8%

. There are two numbers p and g such that
their HCF is 1. Which of the following
statements are comect ?
1. Both p and ¢ may be prime.
2. One number may be prime and the
other composite.
3. Both the numbers may be com-

posite.
Select the correct answer using the code
given below :

(2) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and3

1
2008 ———
5. 2008 2008

1
(b) 2007 -——
) 2 2007

(e) 2007 st
2008

1
2008 - ——
@ 2009
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26.

27.

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.

What is the speed of the current !

{a) 2 km'hour

(b} 2-5 km'hour

{c) 3 kmhour

(d) 4 km/hour

Consider the following statements in

respect of positive odd integers x and y
1+ +}fz 15 even intéger.
2. &+ is divisible by 4.

Which of the above statements is/arc
correct ?

(a) 1 only

(b) 2 only

(c) Both | and 2
(d) Neither 1 nor 2

What are the roots of the equation

X

242275129 9

3
(a) 2, Ihh_g[i,

) 2. 1~rag[§ﬁ

Il" b
(c) -2.1- fog3
log2
i B
log2
VR B
'-.:ﬂ-g:!..-'




23,

24.

T GHFGR UF T & #4-70 | 20% F
7ty & 3T o afemm 7R W 10% H
T2 oAl & | e wiya AT Fa o v
(a) 15%

(b 12%

(c) 10%

(@ 8%

&l ﬁﬁﬂ?ﬂ ;rHﬂI q 7 var & & 3
HCF, 1 & | feafafas # & o @ w2
wEr g ?

1. p & g'fhﬂ'aﬁﬂﬁﬂ'ﬁiiﬁﬂ% #
2. UF den awrE AR gEd W w

CETiR

3, Fl demd e B wE &
T R ™ F W wEm ¥ e S

-

(a) e 1 #K 2
(b) & 2 #R 3
(c) e 1 R 3
(d 1,2 33

1 1 T |
. 1+—=+1—3+ 1+E—2+3—=+ S b
1

1 1
1+ + s s B 7
J 20072 2008* ®
1

{E} Iﬂﬂﬂ—ﬁ

1
(b) 1ﬂﬂ7"£ﬁﬁ;

1
P o s
{c) 200 o8

(d) 2008-——

2009

26. T =qih QT & FES (IHEE) 292 H°

27.

20 km ATE Wa ¢ 3R aw & vl 2 92
A4km TA GO R | T I AW TR 7

(a) 2km/s
(b) 25 km/9
(¢) 3 km/=a
(d) 4km/T

s few quifel x @Ry & fam
frratafios =o=1 w famw fifio .

1+ un qufs §

2 4+ 4% fmrem

Iofe FEt # & w2 A/ e SR 7
(a) oA 1

(b) el 2

(c) 13254

@ 7 F1,7T 62

28, T 27422751 = g Famowm § 7

1\
2. 1=-lopl —
® 5(3,;
' Ty
log3
(e} -2,1-
 fog2 )
: b
@ -2,1-|%82
| log 3
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29.

30.

31.

32,

There are twelve friends A, B, C, D, E,
F G H I J K and L who mvested
money in some business in the ratio of
1:2:3:4:5:6:7:8:9:10:11:12
and the duration for which they invested
the money is in the matio of
12:11:10:9:8:7:6:5:4:3:2:1
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

(k) G only

(c) Both F and G

(d) Neither F nor G

274+ 4%+ 8% 4+ 4%+ 2 s divisible
by which one of the following integers ?
(@) 3

&) 35

€ 7

(d) .11

If 2p + 3¢ = 12 and 4p” + 4pg - 3¢" = 126,
then what is the value nfp+_1q?

(a) 5

21

® -

25
4

09

1

()

(d)

The number of digits in 3*' is n and it is.
given that log,, 3 = 0-4771. What is the
\ra.lueg of n?

(a) 13
(b) 14
(e} 15
(d) 16

SDC-5-TRD - A
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33.

34.

35.

36.

(c)

)

What is the unit digit of 77
(a) 9
(b) 7
c) 6
(d)y 3

If 4x + 3a = 0, then what 15 the value of

L har+ac  x*—ar+a’ "
.'I.'3—ﬂ3 .1'14!‘!3'3 -

4

Ta
7
ia

(a)

(by

_32
Ta

24
Ta

Incomes of Mahesh and Kamal are in
the ratio 1:2 and their expenses are in
the ratio 1:3. Which one of the
following statements is correct 7

(a) Mahesh saves more than what
KEamal saves

Savings of both of them are equal
Kamal saves more than what
Mahesh saves

It is not possible to determine who
SAVES more

(b)
()

(d)

X and Y entered into partnership with
Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year s Rs. 726. How much of
this should X receive ?

(a) Rs. 336
(b) Rs. 366
{c) Rs. 633
(d) Rs. 663



29,

30.

31.

32.

A B C,DEF GHIJK3I L
are i €, faeeia e =mam & e
1:2:3:4:5:6:7:8:9:10:11:12 %
s i dan wm sfie G sty & fem
T T SO A 12 11:10:9: 8
7:6:5:4:3:2:1 B 1 & s #H
Frftrpere wrw et e g 7

(a) A F

(b) F=e G

(c) ol F 3R G

(d AMFARG

2122 4 482 4 g2 4 4™ 4 2 Fmfufaa F @
form quifs @ frm 2 7

(a) 3

b) 5
c) 7

d 1
wﬁzpﬂq-lzmqplﬂpq_jq%uﬁ
@ pryw AR ?

(a) 5

(b)
(c)

(d)

a8 &R =B

33 st 1 v & o e o e
ﬁlﬂﬂlﬂ*"ﬂd'ﬂlﬁlﬂﬁ‘\"ﬂﬁﬂﬁ?
(@) 13
® 14
(c) 15
idy 16

33, 7" T W T R 7

35.

(a) 9
(b) 7
c) 6
(d) 3

. ﬁdx+3ﬂ=ﬂ%,?ﬁ

x4 ax +a’ .1:‘]‘—.:1:-:+r3'I

.Il-'aj 13+d3
R 7

4
(a) —E

&1 A

&~

wewr S we i o 1:2 % Agaw A
R = wm 1:3F s # #

faffm At s o os w7

(d) “WE I =wd, FAe S 590 °F AU
®

(b) I g1 &I =g =0 §

(c) =He i ==, Ak F T=a 7 i
£

(d) TE T = EeE R T = el
maﬂm#

36, ¥ 3R ¥ Eue: 5. 700 3 5 600 & €4

UF WIEERI F F € | @ e an X
Fo w2 1 2/7 Frera Aan & o e
T F 35 FF T g R\ e
A | af & sm A s, 726 % | v
# forr X =t fiern fim ¢

(2) ®.336

by . 366

(c) % 633

(d) ®. 663
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37.

38,

A tank can be filled by pipe X in 2 hours
and pipe ¥ in 6 hours. At 10 a.m. pipe X'
was opened. At what time will the tank
be filled if pipe ¥ is opened at 11 am. 7

(a)
(b) 500 p.m.
() 11:45 am.
(d)

12:45 hours

11:50 a.m.

A train is travelling at 48 km'hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 s. It also
passes a railway platform in 45 s. What
is the length of the platform ?

{a) 600 m

., (b) 400 m

40.

{c) 300 m
(d) 200 m
The speeds of three cars are in the ratio
2:3:4. What is the ratio bétween the

times taken by these to travel the
same distance ?

{a) 4:3:2
(b) 2:3:4
fc) 4:3:6
(d) 6:4:3

i =

If the mean age of combined group of
boys and girls is ]Eymﬁgndﬂm mean
of age of boys is 20 and that of girls is
16, then what is the percentagé of boys
in the group ?

{a) 60

(b) 50

(c) 45

(d) 40

SDC-S-TRD - A
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41.

42.

43.

(d)

The area of four walls of a room Is
120 m". The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor 7

(a) 40 m’
(b) 50 m’
(c) 60 m’
(d) 80 m’

If a square of side x and an equilateral
triangle of side y are inscribed n a
circle, then what is the ratio of x to »?

2
(a) J;

3
(b) \E

3

(c)

w5 S

The ratio of the curved surface area 1o

the total surface area of a right circular
cylinder is 1 : 2. If the total surface arca

is 616 cm’, what is the volume of the
cylinder ?

(a) 539 cm’

(b) 616 cm’

(c) 1078 cm’

(d) 1232 em’

. A cubic metre of copper weighing

9000 kg is rolled into a square bar 9 m
long. An exact cube is cut off from the

* bar, How much does the cube weigh 7

(a) 1000 kg

1000
— k
3 g

(b)
300 kg

©
@ S ke



37.

38.

U TR, M XA 2w A e v @
6 T2 # Hl =1 Fwat & | wE: 10 73 9y
X gt T | 2 T a1 w e afe
99 YU 11 99 W AT R 7

(a) 12:45 grTEx
(b) 5:00 390w
(c) 11:45 =g
() 11:50 =8

T (AT AT 48 km /921 # 9 TR, 0
A @ AT Fand o e, S
fredts o & 42 kvwm & W w R,
125 3 it e @ I WAl B | T8 U W
whew & At 45 s 7 EEEt § | Sewnd &
W fEet ® 7

- (a) 600m

39,

40.

(b) 400m
{c) 300m
(d) 200m __

A aRi TS aTa 2:3:4 % |
TR G U §H gl od S0 H A qe
A T HAE TR 7

{a) 4:3:2

(b) 2:3:4

(c) 4:3:6

(d) 6:4:3

aft; wed ofk Wit & o dge Wy A
e 3y 187 & ok wEEt i Ay W
ATen 20 3 wefiat $t amg = = 168,
i Ty # wewt i Wl @ 7
(a) 60

(b) 50

(c) 45

(d) 40

13

41.

42,

43.

e Fad o T SEE % EEEE 120 m?
2 1 gt ek gaht e g R
afg wot Ft 3= 4 m B, 9 vl =1 dwa
e

(a) 40m’

(b) 50m’

(€) 60m’

(d) 80m’

e g x® ww = W1 gy WO

araTg, P, s g9 # sda e o
MxAyF AL ?

() \E
3
(b) \E

(©) I?E
@ —”.?

T = U1 Ao o 9o Y8 S SR
B S dqea 12 R 1 aR gw s
B9 616 cm® &, T W w1 ST AT
7

(a) 539 cm’

(b) 616em’

(c) 1078 cm®

(d) 1232 cm’

e & UE U9 Hizw w1, fomm 9w
9000 kg &, 9 m &1 Y w5 Ffar fireslt
fdfcm st wdwww
foslt & w12 sran ® | W oW W T
fmd ?

(a) 1000 kg

® 5 ke
©) 300k
@ ke

A — SDC-5-TRD



45,

41 L

Into a comical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
1-96 m’ 7

(a) 264
(b) 201
(c) 132

(d) 105

Let ABC be a right angled triangle with
BC=5¢mand AC=12cm. Let Dbe a
point on the hypotenuse AB such that
£ BCD = 30", What is length of CD?

6l
(a) l—i'-‘-m

17

®) 5 cm

©) 120 -.':II'I
5+]252

120
5+1243

(d)

CIm

Two circles touch externally and sum of
their areas is 130z cm® and the distance
between their centres is 14 cm. What 1s
the difference in the radii of the circles 7

{a) 5cm

(b} 6 cm

(c) 7 cm

{d) B em

SDC-5-TRD - A
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48,

49.

50.

51.

In a circle of radius 3 umts, a diameter
AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP?

(a) 3++10: 3-4/10
(b) 3++/8:3-48
(c) 3+43:3-43
@ 3:43

What is the number of rounds that a
wheel of diameter = m will make in
traversing 7 km ?

{a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building
contains E?%i m® of air. What is the
height of the building 7

{a) 6m

(b) 4m

{¢) Im

(dy 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2: 3 and its volume is 1617 cm’.
What is the total surface area of the

cylinder ?

(8) 462 cm’
(b) 616 cm’
(¢} 770 cm®
(d) 786 cm®



45.

U @i o, A B s4m dR
FEATR 391 35 miE, 7 I & o WE
f et m o £, st vew 4R 8
it ¥ for 1.96 m’ TR it sEEEA R ¢
(a) 264

(b) 201
(e) 132

 (d) 105

46, T #ifm s wwstw frgw ABC 2

47.
" SEet F7 T 130xcm’E, W T

& BC=5cm 3T AC=12cm® | 71
wifer @l 4R w uw fag D wER B
ZBCD=30°R I CDHR A=A TR 7

oy
— Cm
13

17

= CM

®

120

©) 5+124/2

120

@ s+1243

¢ 31 g9 Ao ol o § ok I
¥l & A B g 4em? | T B
Prmmai w1 ST F R 7

(a) 5cm

(b) 6cm
{e} 7em

(d) 8cm

15

48.

49.

51.

1w d e & v g9 4, =W A8,
7 T FE] U A1 S P e Wi
T R gk AP=BP R, AP FIBPH
HATE FTR 7

{a) 3++/10: 3=+/10

) 3+/8:3-48

(€) 3++43:3-43

@ 3:43

aﬂ‘ﬂﬁ'ﬁﬁ#@ﬂwt,ﬁﬁmmﬂm
us uftm 7 km & gt 7@ =1 F fo
s ?
(a) 3300
(b) 3500
() 4400
(d) 4900

. T TR e & 3w o 5 veR g TR

A & oI T A T g |
TR $i S, e % amar 6 e
@ T R ERE F 67 m i R
THE o I a7

{a) 6m

(b) 4m

{c) 3m

(d 2m

B e e s A e
ok gad) Sed e 203 8, ok
THHE AEA 1617 em® | qoH T FA
BT e W R 7

(a) 462cm’

(b) 6l6em’

(€) 770em’

(d) 786cm’

A - SDC-5-TRD



52.

53.

55.

The cost of painting a spherical vessel of
diameter 14 cm is Rs. 8008. What is the
cost of painting per square centimetre 7

(a) Rs. 8
(b) Rs. 9
{c) Rs. 13
(d) Rs. 14
If a quadrilateral has an insenbed circle,

then the sum of a pair of opposite sides
equals

{a) Half the sum of the diagonals

(b) Sum of the other pair of opposite
sides

Sum of two adjacent sides
Mone of the above

(c)
(d)
A circle and a square have the same

perimeter. Which one of the following is
correct 7

(a) Their areas are equal
(b) The area of the circle is larger

{¢) The area of the square is ; times
area of circle
{d) The area of the square is x times

area of circle

A -drinking glass of height 24 c¢m is in
the shape of frustum of a cone and
diameters of its bottom and top circular
ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as mx cm’,
then what is the value of x 7

(a) 824

{(b) 1236

(c) 1628

(d) 2472

sDC-5-TRD - A
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56. In

5.

(a)

an  equilateral tmangle another
equilateral tnangle is drawn inside
joining the mid-points of the sides of
given cquilateral triangle and the
process 1s continued up to 7 times. What
is the ratio of area of fourth tnangle to
that of seventh tnangle 7

(a) 256 :1
(b) 128 :1
() 64:1
{d) 16:1

Rain water from a roof 22m=20m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full, what is the
rainfall 7

{a) 35cm

(b) 3 cm

() 25cm

(d) 2 cm

. The height of a cone is 60 em. A small

cone is cut off at the top by a plane
parallel to the base and its volume is
Ti-ii the volume of original cone. What is
the height from the base at which the
section is made 7

15 cm

(b) 20 cm

(c) 30em

(d) 45 cm

If two tangents inclined at an angle 60°
are drawn to a circle of radius 3 cm, then
what is the length of each tangent ?

(a) 3*.5 cm

(b) +/3cm
{c) 6 cm

(@ 242em



52, 14 cm =@ & U Ai=E 9 7 FEEwE

53.

54.

55,

- F1 A w, 8008 # | ufy 79
st A Frr a2 7

(a) % 8
(b) %9
{c) ® 13

(d) & 14

aft o S § TF s €, W e
qATAT T UF T FT GOEA B

(a) Faeroit % @ & e

(b) =g qA & AL T H AR
(c) BT HAWEA GATHAT 1 THTHA

(d) I § # =g 7

% g9 AN S W w9 e # |
fffm s oo g g 7

{a) FF S = E

(b) T T EATH AR
(c) =T = EAFA, TAF ﬁiﬁm'gﬂm

8
(d) = &1 §Ee, I F GEAFA B A
B

i #1 uF fiem faadt 391 24 em e |
it o5 & foms F awr =1 8, W

- Frd i st g il = s s

4om 3 18 cm B | 3 fem it s |

m'r.:m?‘%. Al x T W q'm%' 7
{a) B24

(b) 1236

() 1628

(d) 2472

56. T qHAE Bae F e, g oW

5T,

S8.

59.

s 1 e % nexfagat =1 wed
e el e Frge s g, st
wier 79w & W £ W Prgwm &
B W W e & aEwe # o9
g # 7
{a) 256:1
(b) 128:1
(c) 64:1
(dy 16:1

22 m x 20 m®! T A § 79 F 5 2 m
=H F AHE T 3-5m IAE 9 TF
SR arE | fime & | o o Sw-dE
T TR AT ®, w et gd @ 7

(a) 3S5cm

(b} 3 cm
(c) 2:5cm
(d) 2cm

T §iF I 60 cm R | THE AER F
TETE U A & 96 9 9% U 9 O
w21 WAl §, AN T HHaE W uF o
AT W o & | AR A T S d
el W wTE g T # 7

(a) 15cm

(b) 20cm

(¢) 30cm

(d) 45cm

afd 60° & Fo w3 9w Yt
# 3cm Brem o v 99 & fom febe

o = 2, ot wedss el an i
R

() 33icm

) fFem

{c) Gcm
(d) 22 em

A — SDC-S-TRD



60. What is the volume of a sphere of radius (a) JE
3cm ? Xy
(a) 36w em’ ny
b —

(b) 181 cm’
(¢) 9% em’ e
©

(d) 6mxcm’

x¥
@ 2

61. The sides of a tmangle are given by

JGE_HJI_ .,.l'{_.i +ag¢ and (b+c) where
a, b, ¢ are positive, What is the area of

For the next three (03) items that follow :

the triangle equal to ? A tent of a circus is made of canvas and 1s in
the form of right circular cylinder and right

.|'ﬂ2+b2 bt circular cone above it. The height and

(a) = diameter of the cylindrical part of the tent are

5m and 126 m respectively. The total height
of the tent is 21 m.

ﬂ.fﬂzbz +bc? + ctat

®) 2 64. What is the slant height of the cone 7
a(b+¢) () 60 m
© = (®) 65m
: _ (c) 68 m
1 2 2
() -\|||3{:1 l!:r2+b:f +cta’) @ 70m
65. What is the curved surface area of the
62, What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius r units 7 " (@) 1980 m?
(a) # square units ®) 2010 m®
(b) 2+ square units (c) 2100 m’
(c) 3+ square units (d) 2240 m’

(d) 47’ square umits 66, How many square metres of canvas are

used ?
63. The diameter of the front wheel of an
engine is 2x cm and that of rear wheel is “la) 1880,
2y cm. To cover the same distance, what (b)), 14480
is the number of times the rear wheel (©) 14580
revolves when the front wheel revolves
n times 7 ' (d) 14850

SDC-5-TRD - A 18



60. 3 #HAT e ae v T = armaw e
g2
(a) 36xcm’
(b) 18mcm’
(€) 9xem’
(d) 6xem’

61. st PBrgm &yt @ Vol 42

Vel +a? @ (b+ o) TRy = T
&, 61 a, b, ¢ TS & | B = S
Pk e 7

2

Vaib? + b2 +c2a’
2

(a)

(b)

alb+c)

(c) >

@ VX 162+ Fa?)
¢ S

62. Fret r Tl % w sty 3 st
A = P A o g 7
(a) r* i Tl
b) 27 = g
(c) 3" o wareml
() 4r =F g

63. TF 9 & W ufied F1 =0 20 cm ® #K
fiast afed %t = 2y em® | v W

a0 w % forg fiew ofed =t feeit
SEAT B, 4 smoem n AR g # 7

(a) —
t =
(c)

Y
@ =

T A (03) Weerri o Teag W A
i §

UF U 1 T dhead & w1 | O W
TEity FwA F w9 ¥ #, famd ow W w6
% & | 99 ¥ IsmR T f dEE ek
=Td FAE: SmHK 126 m R | T A g
K 2Ime |

64. i €1 ot dard Rt & 7
{a) 60m
(B) 65m
(c) 68m
{d) 70m

65. e 1 7% YA s fam &
(a) 1980m"
(b) 2010 m*
(c) 2100m?
(d) 2240 m*

66, Fomas aiiet S wgen gan ?
j (a) 14450

(b) 14480

(c) 14580

(d) 14850

19 A — SDC-5-TRD



67.

68.

The wheels of a car are of diameter
B0 cm each. The car is travelling at a
speed of 66 kmhour What is the
number of complete revolutions each
wheel makes in 10 minutes 7

(a) 4275

(b) 4350

(c) 4375

(d) 4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm 7
(@) 30 cm’

(b) 35 cm’

(c) 40 cm’

(d) 42 em®

If the perimeter of a circle is equal to

that of a square, then what is the ratio of
area of circle to that of square ?

(a) 22:7

(b) 14:11
(c) T:II:

(d) 11:14

ABCDA is a con-cyclic quadrilateral of
a circle ABCD with radios r and centre
at 0. If AB is the diameter and CD is
parallel and half of AB and if the circle
completes one rotation gbout the centre
(2, then the locus of the middle point of
CD is a circle of radius

Ir

(@) 5

ar
(b} 3

SDC-S-TRD - A
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71.

73.

243
3
Jir

@7

{c)

If sinﬂ+cnsﬁ'=§. then what 15

sinfl - cos? equal to ?

{a) 0

1

2

(c) 1

(d 2

If sinx+sin‘x=1, then what is the
value of cos'x + 2cos’y + cos'x 7

(a) 0O

(b) 1

(c) 2

(d) 4

(B)

A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time 7

1003 m

20043
"—'—'—3 m

(a)

(b)

© %"’"—E-m

(d) 200+3m



67. TF FH & Weds 9ied 51 =W S0 cm E |

70.

T 66 km/dz1 1 fer § 5 R | WS
afean 10 fimz 3 et aw gof 9via s
g7

(a) 4275

(b) 4350

(c) 4375

(d) 4450

. 12cm, 13 cm 3R 5 cm s &1 Yanai

Tt o g & st R @ 7
(a) 30 cm? |
(b) 35 cm’
(c) 40cm’
(@ 42cm’

. afé v 7w $t ofdfy s =f 6 ofome &

T 2, A1 99 & STEA 1, T & ST
& W IR e 7

(a) 22:7 '

() 14:11

(€) 7:22

(d 11:14

r P 3l 0w S T UF 99 ABCD®
F UHEATE Sgde ABCDA R | 7w AB
= §, M DS R A AR =
s @ | 4l 79 & 0% WK 3R G i
R #an & @ CDF Aen fag w0 fag,
P s o ga g ?

Ir

(a) £l

2r
(b) 3

21

71.

T2.

3.

Ir

O F

afe sinﬂ+cusﬂ=§ g

sinf) — cos@ Toms T & 7
{a) O

1
b 3
{c) 1
@ 2
Hﬁsinx+s:i.n21=lt.,ﬁ’f
cos'x + 2cos’x + cos'x T AW TR 7
(a) 0
b) 1
(c) 2
(d) 4

100 m3™ TF ZEL & 9id & U et 30°
AT FI R T FR H A AT AR A
T YEaT § | 3 wE WE, AEEEA
60° B A # | T i H FR R 0

| i R R 2

(a) 10043 m

(b)

(c}

(d)

A = SDC-5-TRD



74. Two men on either side of a tower 75 m (c) ﬁ
high observe the angle of elevation of

the top of the tower to be 30° and 60°. (dy Z
What 15 the distance between the two J3
men 7
(a) 10043 m 78. If A=sin’d + cos'® where ll]ﬂ_:ﬂ'-:-;—,
then which one of the following is
(b) 753 m st
© 10043 o (@) 1=4<2
3 ;
(b) %5,{51
(d) 6043 m
.
—eA=2
75. What is the value of ©
cosec’68° + sec’56° — cot’34° — tan?22° 7 3 13
@ Z<d=—=
(a) 0 - | 4 16 .
®) 3 79. What is SotA+cosecA-1 07 |
cotd=cosecA+1 ;
(c) 1
' 1+cos 4
(a)
@ 2 i
76. If 2y cosf = x sinf and () 1-cos A
2x secH — y cosecl = 3, gin A
: v
then what is x* + 4" equal fo 7 i fhae
(a) 1 . cos A
(d) 8 _ 80. Consider the following :
. 5 1. sin 1°>sin 1°
77. If sinf + cosf = “2 2 whmﬂ*-:ﬂ{ig—, 2. cos 1° < cos 1°

3. tan 1° > tan 1

then what is tan® + cot@ equal to ? _
Which of the above are mof correct 7
L |

(a) ﬁ . (a) 1| and 2 only
4 (b) 2 and 3 only
1 (c) 1 and 3 only

® 7 (@ 1,2 and 3

SDC-S-TRD - A 22



4.

15.

75 m & UF TEL & AT 90F @ of SH]
Z1a% & ot 3 THEE w & 30° AN 60°

w1 R & | g s & de A gl

fraet & 7
(a) 100+3m
(b} 753m

100-/3
—————— TN

(ch 3

(d) 6043m

cosec’68° + sec’56° — cot’34° — tan"22° =T
HE FT R 7

(a) 0

® 3
(c) 1
@ 2

76. af& 2y cosf=x siné K

7.

2x sec—y cosecH=3 %,
At x* + 4y Fooees s § 7
{a) 1

®) 2

(c) 4

d 8

| 3.
'ﬂ'ﬁsmﬂ+msﬂ=]+;r t.mu-:e-:i’%

2, 1 tan@ + cotd fore sTAT & 7

® 2

®

13

8.

79.

(c) 3

4

3

(d)
afe A = sin’6+cos'0R, AR 00 < -’; 2,

af famfafag # @ st o wE & 7
(a) 1<A<?

(d)

cotd+cosec A1 orn a2 7
cot A—cosec A+1

1+cos A
gin A

(a)

l1-cos A

(b)

gin A
1+sin A
cos A
1=sm A
i cos A

(c)

(d)

.ﬁﬁﬁlﬁﬁmﬁrmiﬁiﬁq:

l. gin 1° > sin 1°
2 cos1°<cos 1°
3, tan 1* > tan 1°

I # & 3 & wel T § 7
(@ =71 3k 2
(b) e 2 3 3
(c) e 1 3K 3
(@ 1,23K3
A - SDC-S-TRD



1.

82.

If tan®x+ =2 and 0°<x<90°,

tan®x

then what is the value of x 7
(a) 15°
(b) 30°
(c) 45°

(d) &0°

If the length of the shadow of a tower is
equal to its height, then what is the Sun’s
altitude at that time 7

(a) 15°
\b) 30°
{c) 45°

(d) 60°

Consider the following :

| COsTS_ sin12° cosl8
sin 15° cos 78° sin 72°

5 ©0s35° sinll®
gin 55° cos 79°
cos 28 cosec 62°=1

sin &0°
cos 1

—sin 59° sec 31°=0

Which of the above are correct ?
(a) 1 and 2 only
(b) 2 and 3 only
{c) 1 and 3 only

(d) 1,2and3

SDC-S-TRD - A

84,

Bo.

A pole stands vertically mside a
trnangular park ABC. If the angle of
elevation of the wp of the pole from
each comer of the park is same, then in
the triangle ABC, the foot of the pole is
at the

{a) Centroid
(b) Circumference
{c) Incenire

(d) Orthocentre

What is the value of
tan1®tan2”tan3tan4” . . . tan89° ?

(a) 0
(&) 1

(c) 2

(d 3

The average score of class X 15 B3
The average score of class Y is 76.
The average score of class Z is B5.
The average score of class X and Y is 79
and average score of tlass Y and Z is 81.
What is the average score of X, Yand Z£7

(a) 815
(b) BO-5 L]
(c) 790

(d) 780



81. Af3 tan?y 4

82,

83.

ll =2 T 0°<x<90° &,
an™x

?ﬁx?ﬂmﬂw%?

(@) 150
®) 3¢
(€) 450
(d) 60

ﬁﬁﬁmﬁwﬁmﬂﬁaﬂ
S ¥ sam & A v e w g
FHAY for 2 7

(a) 150
) 3¢=
(c) 452
(d) 60e

ﬁw"ﬁﬁﬁ'ﬂﬁiﬁfﬁ'ﬁm.

L j'ﬂ sin 12°  cos 18° _
8in 15° cos 78° sin 72°

cos 35" sinll°
-_-.___"_
sin 55 cos 79°
cos 28° cosec 62°=1

si
3. Eﬁ%—ﬁn 59° sec 31°=0

T F % F A 2
(a) ¥m= 1 sk 2

®) Faw 2 st 3

(€) F=w1 sk 3

@ 1,23k 3

25

84. v faminlia ok (39F) ABC % we v

e s wa & | ok ok & v w
T & i S S R U R,
At B ABCH ww %1 U Fui W R 7
(a) Hah

(b) wftfir

(c) ¥a: &=

(d) =9 &=

. tanl® tan2"® tan3® tand? . . . tanR9° FTHH

7
(@) 0
(b) 1
(c) 2

@ 3

86. T Y & wa aF 838 | FE ¥ F ot

%76 % |75 Z F o 55 85 F |
X #R =m ¥ % atea 5% 79 &, st wen
Y s 2§ aftea s 818 | X yalt
ZwE A s e

(a) B1-5

(B 805

(€) - 7%-0

(d) 780
A - SDC-5-TRD



87.

agll-

90,

. The

For x>0, if a variable takes discrete
valuesz+ 4, x - 3.5, x—-25,x-3,x -2,
v+ 0-5 x—-05 x+5, then what is the
median 7

{a) x
(b) x-05

1-25

(c) x+0-5

(d x+125

median of set of 9 distinct
observations is 20-5. If each of the
largest 4 observations of the set is
increased by 2, then the median of the
new set

(a) 1s increased by 2
(b) is decreased by 2
{c) is two times the original median

(d) remains the same as that of original
st

A cricketer has a cerlain averaffe of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new
average 7

{a) 42

(b) 47
(c) 48
(d) 60

The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as
3 and 6. If wrong observations are
replaced by correct values 8 and 9, then
what is the correct mean ?

SDC-S-TRD - A

1.

92.

' 93.

(a) 174

(b) 166

{c) 158

(d) 142

Number of credit cards held by an
individual can be treated as

{a) Qualitative data

(b) Discrete data

{c) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what is the
average marks of the girls ?

(a) 64
(b) 65
(c) 68
{d) 74
A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108° angle at' the centre. What is the

percentage of income from corporate tax
to total funds ?

(a) 20%
{b) 25%
(c) 30%
d) 35%



87.

88,

90.

x> 0% o, afe v, Afamam x+ 4,
x—35, x=25 x-3 x=2, x+035,
x— 05, x+ 52 dmfemam @ 7

(a) x—1-25
(b) x-05
(¢} =+05
(d) x+125
o Tirer Sreroii & wopewa o1 wfeERT 2058 |
oy WA & 4 wad =5 wewit # Ay

F1 2 st # e fea www A 7@ T A
HifeiraE

(a) 2% =5 =t &
b) 2% =z
(¢) ¥ wieqa =1 g &

(d) T T H i & e
el @

. % T fammst it 10 mivai =1 @

faivem sitwa 2 | wmedt ot # SEA
108 % =, Forwrdt 3w aftwm 6 & =
T | I A s R

(a) 42

(b) 47

(c) 48

(d) 60

20 SEi w1 A 17 % | e e S IE
o e i & et 6 (qEH) 3 6%
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91.

92.

93.

(a) 17-4
(b} 166
(c) 158
(d 14-2

g =afen g W@ 9t 9 i wEl R
e 1 Tovm w9 & A o wEa @ 7
(a) TS TH

(h) it =a

(c) waffazw
(d) 9w A @ 5 T/
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eyl e & sftaa o 72 8, o wefEt &
st sim R £ 7

(a) 64

(b) 65

(c) 68

(d) 74
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(a) 20%

) 25%

{c) 30%

d 35%
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94, Consider the following statermnents : (¢} 3

1. The classes of type 15-19, 20-24, (d) 0
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25, 98. What is the difference between the sum
of the cubes and that of squares of first
ten natural numbers ?

25-30 etc. are inclusive classes.

Which of the above statements is/are

correct 7 (a) 2280
{(a) 1 only (b) 2640
(b} 2 only (c) 3820
(c) Both 1 and 2 (d) 4130

(d) Neither 1 nor 2 .
99. A motorist travels to a place 150 km

away at an average speed of 50 km/hour
and returns at 30 km/hour. What 15 the
average speed for the whole journey 7

95, Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(a) 2 (a) 35 km/hour
®) 3 (b) 37 km/hour
(c) 5 (¢} 375 km/our
(d) 6 (d) 40 km/hour

96. Let 5 be a set of first ten natwal

numbers. What is the possible number of 100, If x+ =2, then what is x
pairs (a, b) wherc a, b € Sanda = b I+_1 .
such that the product ab (=12} leaves 2+§
remainder 4 when divided by 12 7
: equal to 7
(a) 4
"
6 A
(b) @ 75
(c) 8
13
(d) 10 (b) 10
97. What is the remainder when 1
1374+14°+15°+16° is divided by 29 ? © 1o
(a) 8 i 17
() 5 10

SDC-5-TRD = A 28



94.

95.

96.

7.

frrafeftga waat o faar ifio .

L 15-19, 20-24, 2529 oz WER
&=, i ot €

2. 15-20, 20-25, 25-30 afe waw
& =7, siaffe =l 2 )

I H # W A8 e w7

{a) A |

(b) FA 2

() 1 3k 2t

(d FATLAE 2

A difn & =t s=ww 10-15 i
SREEAT 30 ®, G W 9 s W
FRARA Ted e & 7

(a) 2

(b) 3

() 5

(d) 6

w1 e i 5, waw w8 gegel wemEt
U BT € | g (a, b) F Tl den
F R, T a,be SR axb@UEREFE
TAFA ab(>12) F1 12% fmfamE w6 w
NFH 4 AT R 7

(a) 4

(b) 6

(c) 8

(d) .10

1354145415%+16° = 20 & frarhm R
ST T S ¥ TR B 7

{a) 8
b) 5

19

98.

100.

{c) 3
(dy 0O

W T A WEATHI & T o AT S
Ik =1 & ANTRA & #i= w1 e e

e & ?
(a) 2280
(b) 2640
(c) 3820
(d 4130

TF Wizt e 150 el g uw v
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(c) 375 km/9&X
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13
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11
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(b)

(c)

(d
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